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1. R YR, A I, ITH, FUIG | 31F b PHid Tl GH, 98 g I TbN | ' IT a8
¥ ford 9N i3 weT T B?

(A) e
(B) Teritar
(C) HREC™
(D) STt

Answer = A

2. G D ofH chd g3 YT?
(A) 1477 (3{THTHG)
(B) 1478 (3FFATHA)
(C) 1479 (3FFATHA)
(D) 1480 (3(FHIHA)

Answer = B

3. YT &l (A e garm ur?
(A) 1581

(B) 1582

(C) 1583

(D) 1584

Answer = C

4. R T OFH Hgl AT UT?

(A) FIRY & Fpe didt e IH

(B) U & Hidbe ISt ATHS UTH
(C) BRI & Adpe digl TH® IH
(D) feee & e gt e uH



Answer = D

SRCIRIU IR

HgDh WId Hg RMA TRMEd ....... @l Fa-fa
(A) gl

(B) U

(© B

PREX

Answer = C

6. IR o1 B fob w1 | ot
(A) T

(B) T

(C) PUTHfad Td oRTY

(D) ST Tt

Answer = D

7. QRGN & ST DI 47
(A) HRTIY STeTHTTR

(B) HETHY A=A

(C) XHIT<

(D) fagermy

Answer = A

8. YR &1 Afadcd dra UT?

(A) O T 3 T 9 B W AT AT STl e
(8) e, fary, FARfYmr, wigsw

(C) SFAHE WHTE & favad HeTeT

(D) STt it

Answer = D



9. YN Pt Hiadl & 19 FdTd
(A) IEMY

(B) AMURoh[d], YRERTITA

(C) HTfe Te

(D) Iugert T+t

Answer = D

10. RGN {5 &1d & Hid A7
(A) TIBTA

(B) 3TYfDH BT

(C) 3ffepral
(DESEE I ]

Answer = A

11. SSTHTYT St fa=iwar & e
(A) DI

(B) STfercd

(C) Fryd

(D) STt qlt

Answer = D

12. QR & BT & I T fawg o1 87
(A) faa-yfaa

(B) AT

(C) WH-5TTR

(D) STt it

Answer = D
13. JRaN & ‘U’ ford Qe 9 forg U ]2
(A) RITR




(B) Wfeasdl

(C) TYRF DI

(D) T IRIGa!
Answer = A

14. T S8 BT HR—

WEN 99 30+ I fawd &7 90H & HRd © a1 AFY ........ T ISP 3P U GIS]
ERGIR]

(A) BT TR

(B) AABRIITE

(C) SUHRIRA

(D) TUBIRA

Answer = B

15. YREN = 1&g ol T80 BI?

(A) W GRT JHTS

(B) ST T UG WTId o1 fa=TG 191 TG 31
(C) Ta=mat e

(D) STt et

Answer = D



